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Not only are they Tohoir, but they are also not Machshir

OVERVIEW

The mwn (of vnn) stated that the w2 is &»v. The X3 asked, ‘how did the w2
become 8M0 22p% W’ ? It cannot be from the water of the X°r1aw » n°3, for 01 '
X3°117 72 ruled that the X° 12w n n°2 *pwn are not wan. Our MdOIN explains why we
could not give the same explanation given previously, and also why indeed is the
X720 N°2 PWwn not WIn.

mMdoIN responds to an anticipated difficulty:'
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The X713 did not want to answer; ‘apply the ruling of 11""2> (that X°nav 7 n°2 *pwn
is not 7°w2an) only for blood but not regarding water, because previously the X7,

was forced to offer this answer, however here we can find a better answer that w7 nan
nIWwn.

mooIn explains why X°rav n nN°2 Ppwns are not 1°wan according to 11"'20:
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And the reason X°1av n n°2 1PPYWH are not w2 is because 11""1°1 maintains that

detached waters are not 25w>», only 01217 o°n (attached waters) are Pwan -
- 9wan N9 W RNV *PPYN 533 29NIT RPNV YIITT

Because he expounds the (second) 8»w> which is written by 1pPw» to mean that
the 7pwn actually become 82w, but it does not mean “w>2:7 as others interpret it -

! Previously (on X,70) the X3 challenged the view of 21 (that X°raw n n°2 >pwn are not [even] nxMw 22pn) from the
P09 (in 72,8 [1nw] X1p") which states 8w *22 922 7nwe WK Tpwn 933, indicating that npwn is (at least) axmw Papn.
The &7n3 answered that Xav> means that it can be A8?W H3P% PR PwoHn (but pwn itself cannot be axmML 2pn).
[Two 2’100 are necessary for 0°n w27 to teach us that both 0121 o and 2°w%n o are °won.] The &n) asked
but how can you say that 2>¥1%n o°n are n"in W, since X117 72 01 M ruled that X°nawn 2 pPpwn (that is  pwn
PWIPN) are not 1WIn (proving the PwI7N 1pwn are °wan only 13277). The X3 answered that we will need to say
(according to 27) that "2 was only referring to o7 but not a». The anticipated question is, let us give the same
answer here that only 07 is not °w37 but 2°w7n 0°» are PwoN.
2 x,10. See previous footnote # 1.
It is a ‘forced” answer because the word [¥°avn n°a] *pwn is plural, indicating both blood and water.
* p™2mn 0 means water which is connected to its source like a lake or a stream. PwIPN 0°n means water which left
its source, it was drawn from it source.
% 79,80 (C1nw) XIpM reads 8w °93 922 A0W W ARWR 22) Ko D 1HY Ki2Y WK DI WK DRI 991,
% [Seemingly] X311 72 01 "1 will need to agree with YXmw that 197 means they cannot be Xavn others but the 7pwn
itself can become X»v (even in the X»nav ™ n°2) for he interprets the Xnw* by 7pwn to mean wnn Xnv.
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So therefore there is only one o9 regarding “w>77, and 11"27 maintains that
this 709 should be preferably applied to 3773 % rather than to wyon.?

SUMMARY
INIWIn WNPT 1IN is a better answer than 27X X370, According to 11"'2™7, liquids are
(at least) n&mw 92apn, and only 11212 are (n'"'7n) 2°wan but not 1wN.

THINKING IT OVER

mooIn previously’ taught regarding o*Mann 1pwn that are "wan, that the w7 takes
place only after the wet food was removed from the place where they are 7211, but
as long as the food is ™12°177 DPn21 it is not ARM™IW 92pPH W, This would seemingly
indicate that w%n are more apt to be 7°won than 172173, How can we explain that
n"27 maintains that only'® 11217 are 2"won» but not Pwon?!"

! Only the first part of the P105 (mentioned in footnote # 4) o’ Y5Y X12> WK refers to W, but not the end of the
9. See footnote # 1 [in the brackets]; if there are two 2’109 for Ww>:1, we include both 212117 and 2°w1%n, but if
there is only one P05 for w11 it can mean only one, either w170 or 1217,
¥ See the X3 previously on X,70 that there is a Xm>>% for Pw12n and 11212 so that we cannot derive one from the
other. n"27 is of the opinion that if we need to choose one to be 2 wan it should be 1121 rather than PwY?n. See
‘Thinking it over’.
? (x"21 aw2) 0 AT R,
10 See footnote # 8.
' See 9% oK.
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